] 100

HRERE

10.1 O

00000000000 0000000000000000000000000. OO0
00,00000000000(0,0)0000000000000000000000
000,000000000.0000000000000000000000000,0
000000000000.00,000000,000000000000000000
0D0000000000.00000000000000000000000.

0000000000000, 00000000000000000000. 000,
0000000000000 000000000000,00000000000000
000000,00000000000000000 (gravity wave)** 0, 000000
(capirally wave), 000, 000 (ripple)000000. 00000000000000O
0000000000,0000000000000000000000007*,000
0000000000000000.00,0000000000000.

102 O0OOOOOOOO0O: 0god

m000 000000000000,z y00,00000 20000.000000
(000)0 2=0,000 z= —h(z,y), h(z,y) >0000. h(z,y) 0000000
0.00000 pz,y,t) 000. 0000 h(z,y) 0000000000000000
00,00 gz, y,t) 00000000.

1 0000000000000 00000000. D0000000000000000 gravity wave,
gravitational wave 0000 0O0O.

200 1em000000000000DO,2ecm 00000000000 DOO00O. (00DO0: 000000
(0DDO, 1986))

95



96

0100 000

s 000 OOOO0OoOoobobbbobodoooUb.bbbooUoobbbbooooo
000, Lanrtange 0000 (93000)00,000000000000000. OO
Oo0O0,00000000 ¢0D000OO:

v=V. (10.1)
DDDD,n(x,y)DDDDDDDDDDDDD.

mogo DDDDDDDDDDD*3(DDDDDD)DDDDDDD,DDDDD
V-v=0 (10.2)
Ooo. (10.1)0 (102) 00000,
V2 =0 (10.3)
000.00,00000000 &0 LaplaceJ000O0000. 0D0O00OO0OO000DO
goooooooao.

(10.3)0000000,00 (¢,y 00000 () D000000O0ODOOOOO. OO
000000000000000000000,000000000000000.*

s J00gogooobob0 ooooooooboboobooog,bbodooooog
bbb n0O0O0O0,

v-n=(VP®)-n=0, at z = —h(z, y) (10.4)

s 00000000 boooobbbooobbobooobobbooobboood
goooooobo.oooobg,

F(x,y,z, t)=2z—n(x,y,t) =0, (10.5)
DF _D: Dy
Dt Dt Dt
_ on  on  On\ _
w = n + u@ + v@ (10.6)

ot Ox oy’
000 (101) 00000

0% _ 9y 0%y 0% 0n

vE il inl = . 10.
9. ot Toror Tagay MA@y (10.7)

*3 0000 (homogeneous fluid) O OO
*0p00000,0000000000000000000,00000000000000000000
gooboooooo.



103 00000

97

Laplace0 00O (103)0 » 0000 2000000000, 00000000000
00o0o00o0o0ooo. 0ooooo, (1000000 0000000 D,0000
0oo0o0oooo.»p0O ¢000000000OODODO, (10D 0000000
gogoob.oboboooobooboog.

mJ000000 9.70000000,0000 (000000 U)0O0DOODODOOO
000000000, Euler000000000D0 100000,00000 (9.44)

0P
ot
00000.000 P=[p'dp00D0 (0000000)00000 P=p/p,00

0000000 U=¢:0000000 U=¢gp000.00000000 poe 00,0
000 f()0 f(t)=ps/p000.000000000 (10.8) O

+%|V<I>|2+P+U:f(t) (10.8)

0d 1 2
— + = |V®|" +gn=0

N=—-———|VO], at z =1 (10.9)
g

000, (10.9)0 (10.7)000000,00000 0000000,

m000 00000000,00000000000000000000000000
000O000,0000 (10.4), (10.7), (10.9) 0000 Laplace 000 (10.3) 000 O
oooooo.

103 OODOOO

00000o00o0o0oDOo0oo,0000o0O, Laplace00D0 (10.3), 000000
00ooo,0000 (10.7), (109 0000000000000 z=n0000000O
000000000000000000. 0000000000000 00o0O0 (OO0
0)000000000. 0000000000000 DDO0ODOO0ODO0O0O0OUoOOO
ooooboooboobo. boboobooboo0oboo0oboobDooboo 100D
ggooboobodooooooboobobodooooob. oo boobobooooon
ooob0o,00bd0 1b000b0o0oobo0obboobobUoooDbOo0obD. oooo
ob0,00b00b0ob0oobooe20b00D.

oobobooo0oOobOoooooobOo 1boboboooboooo,b0b0g 9,90
lgooooooo.oog,e,p02000000000000DO0O0OO0. DO0DOOO,



98

0100 000

(10.7), (10.9) 00000

- t 2= 10.10
100
= ——— t =n. 10.11
n=cgr A A= ( )
(10.11) 0 (10.10) 000000 $00000000:
0%P oD
—_— — =0 t =n. 10.12
oog, ®(z,y,n,t) 0 z=000000 TaylorOOO OO
oP
(D(:L‘, Yy, n, t) = (I)(QZ‘, Y, 07 t) + & n + ... (1013)
z2=0

o000 20000000,20000000000000D000DDOO0ODODO. DO
00000 (10.12)0 z=n0000,2=0000000000000.
gobobooooooo,bggdoboobdg,ggbbobouooon

V2® =0, (10.14)
(V®) - mn=0, at z= —h(z, y), (10.15)

0?® 0P
Wﬁ‘gg =0, at z=0 (10.16)

gobo.dobooooad
1 0®

=—— at 2= 10.17
n=—y g A (10.17)

goooog.

104 0OO0OOOD0 (1000)

00000000000000000 (z,2)00000000000000000O0
000.000000 h(e,y) OODODO.

1041 DODODOO

000000, (10.14)0(10.16) OO

0’® 9%
g—f =0, at z=—h, (10.19)
2P P
%? + gg—z =0, at 2=0 (10.20)



104 0DO0OO0OO (100D0) 99
goag.
0000 «,t00000000 (sinusoidal form) 00000 :
O(x, 2z, t) = ¢(2) cos (kx — wt). (10.21)
000,%0 2,t00000000 A=2r/k, T=2r/w0000000. )\ T000
goog,0oogoog. DDDDDD,/\_lzk/27TD 000000000000
DDDDDDDDDDDDDD,T*:w/ZWDDDDDDDDDDDDDDDDDDD
O0. cos O argument, kx —wt 0000000, 000000 000000
w
kx — wt = const, r = 7 t 4+ const,
0o,
w
= — 10.22
c=* (10.22)
goooo. cooooooon.
(10.21) O (10.18) 00000 D,
d? 9
@Cb—k ¢ =0,
¢ = Cre" + Coe™,
® = (C1e"* + Cae™"*) cos (kx — wt).
oooo (1019900000,
0P
5 =k (Cre™"" — Cre"") cos (kz — wt) = 0
z z=—h
1
Cire Fh = Cyeth = §C,
1 1
clzﬁcekh, C —§Ce_kh,
® = Ccosh [k (z+ h)] cos (kz — wt). (10.23)
ooooooo (10200000000,
0*® 0P
(W + 98_) = —w?C cosh (kh) cos (kx — wt) + gkC sinh (kh) cos (kz — wt) = 0,
< z=0
w = ++/gk tanh(kh). (10.24)

0000000 (10.11) 00

109
= g Ot
Cw .
= —— cosh(kh) sin(kz — wt) (10.25)
g
0o 4

[




100

0100 000

00 A0O0O0OO0 ¢00ooooo,

Ac
¢ = ~ b (Eh) cosh [k(z + h)] cos(kx — wt) (10.26)

goo.

1042 0OOOO

(10.24) 00000000000

c= % -+ % tanh(kh) (10.27)

gogd,djddddoooooodu. ooooooooooobobbbbbboobobobo
0000000 k0000, (l021)000000000O0O0ODDOOODODOO. OO, O
000000o0oooooo0o,00ooo (10.26)0(10.27) 000000 kOOOO
ggooooooobobobboobob. bbob,000oooooobobobobobooboobooboobn
(1027) 000000000000, 000000000000,0000000000O
0.00000000D000000 ¢c0 OO0 kO0ODOOOODOOOOODOOOOO,cO
kOOOODOO0OOOO0ODO. O00,c0 kOO0O0ODOOOOODOODOOOOODODO. OO
goooooooboog.

ooooobobooobo,g=00000 e=000000000DO. O0O,00O
00000000000000. 000000 (gravity wave) D00 00,

1043 OO0ODOOOOO

0000000 (00 (x,2) 0000000000. 00000000

dz 0P Ack

prie u(z, z) = e Snh(kh) cosh [k(z 4+ h)]sin(kz — wt), (10.28)
dz 0P Ack )
i w(z, z) = 92 = smb(Eh) sinh [k(z + h)] cos(kx — wt),  (10.29)

gogooob. gooobooobobobobbbobbob,oooboboboboboboboboboboobn
goobo.bobbooobbboooobbooooboboooonbon.
goobobobobbtbododoooooobobob,ooobbbbbbddUooooo
00000.0000,0000000 (r,2)000 10000000000 (x, 20) O
00.000000000000000D0 (AD100000)000,00000000



104 0000000 (1000) 101

oooobdob1l10oboobobbooboooboo:

T =x0+ (x — xo),
—_——
oooooo

z=2z20+ (2 — 20).

————
ooooog

000 (10.28), (10.29) 0000000 z, 20 zo, 20 00000 DOODOOOO. OO
gogobooooooo

x=1x0+ m cosh [k(zg + h)] cos(kxy — wt), (10.30)
2=z + m sinh [k(zo + h)] sin(kzo — wt), (10.31)
DO0O. (10.30), (10.31) 000000000000 0000000
@ _af‘))z L& _1)220)2 =1, (10.32)
Cosziféfzi:; Ml (10.33)
)

gobo.oooboboogd

e 000 ¢, 000 bOOODOOOODO.*

e J000DN w>0(w<0)0DODODOOD (DODDOODO)DODO.

00000 b/a=tanh[k(z+h)] 000 2000000,00 z=-h000O
000O0.0000,0000000.

DO0D0D0D00 2vVe2 —b2 =2A/sinh(kh) 000000000 DOO.

000 (2=0)0000000, (10.31) 00 2z = Asin(kz —wt) 000. 00, 00
000 (10.25) 0000000.00,00 v0,uxsin(kz—wt) 0 n0000000.
000,0000000000000,+>0000,000000000,2<0000.

1044 0OO0ODO,000

OO0 ANOOO AODDOO0ODOOOO,0D00000 AODOD ANODOODOOOOO
goobobooooooo:

h
;<L (10.35)

*»000 0000 coshz >sinhz 000. (000 x=0000.)



102

0100 000

00000000 (10.27) O

c=+ \/ tanh 27rh)
= +4/gh

000,000000000.%
D0000000ooooooo, (10.30), (10.31) 00

T =x0+ o cos(kxg — wt),
A h
z=2zy+ % sin(kxg + wt).

T—10, 2—2 000000000000

z— 2 w 27(z0 + h)

= — k(2 +h) =

kh A

r — X

< 1.

(10.36)

(10.37)

(10.38)

(10.39)

0000,0000000000000. 000 x0000000000000000,
Ud zo 0o oooobb,bbbd0 xcOO0O0OO0LObLDbOOOOoOODbO

ao.

gogog,bboboboobbbobbbboboo,bboobbbbbbbbbbbbbn
god,0ooobbbbb, oo oobobobobo
goobobodooo. ggboooo,obbooobboooo,bbbooobbooon
ggoooooo. go,bbbbobboooooooooob,0oooooooobo

gg.

sl [0OO0OO0,00d0b0b0b0oobboboooobbdoooobbooobLbobooOod

gobobooooooboooobooaa.

1045 0O0O,000

(10.35) 000000

h
N 1.
)\>>

(10.40)

gobooogooobuoooooo. bboogobo,bb,bbooobobboooon.

*6 2« 10000 sinhz >z, coshz 1, tanhz X2 000.
*T QoOo0o00000 zp~hOOO.



104 0000000 (1000) 103

ggoo

1. (1040)0000000,00000 (1027)00000000O00. OOOOO
ogbodoooooboooouooao.
O00: 2> 10000 sinhz, coshx, tanhx OO O0OO0OOOO, O0OO
(10.27), (10.30), (10.31) DOODOOOO.




